H & 0l & AHS B Ml A

20243 =0llah LB G A2

A CHEA2

MM DI 5 L 2
Rl SAEE ¥ ARES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CHHE A2 2,806,938 1,595,248 1,211,690
F=s 40,860
AlHl 531,795
2l 2,234,283
STTANE &5 2 29 2,559,565 1,341,821 1,217,744
ras 11,210
Al 444,199
2l 2,104,156
SNXE L N2HE 209,560 188,007 21,553
AlHI 20,000
2l 189,560
27y ¢ el 155,624 122,783 32,841
AlHI 20,000
2l 135,624
201 LBt2AY| 24,874 6,783 18,001
01 AlR2:2IH 24,874 6,783 18,091
OUHE AR Ho|tsie s 6,816
s 18,5002 x8 2« 12 1,776
SN 15,0002 +28 5+ 122 5,040
OCHHEANZ SARIZ Hel 12,472
S AT AHMARC) L 7002%8,00024 5,600
TARE Helgs Y 6,872
-RFID EAD 2402 %12, 00004 2,880
RFID ESAEIH 70@1%12,0000H 840
—2He3| 802! *14,4000H 1,152
2204 S 500,000 43| 2,000
OBISE A2 Ho|tsie s 2,016
ae 18,5002 6 2 +6 2 666
7 15,0002 * 15562 1,350
oStz M2t TAXZ FHel 3,570
S A E AHMARC) 2 7002%2,00024 1,400
TARE Helgs Y 2,170
-AFID EiD 24021%3,0000H 720
RFID ESAEIH 7024 %3,0000H 210
—2He3| 8021*3,0000H 240
=04 S 500,0002*23] 1,000
405 THAHE SHI 130,750 116,000 14,750
AlHl 20,000
2l 110,750
02 SN2 130,750 116,000 14,750
OUEAZ X271 114,750
S YUBh Y ME A 16,0002 %7,0002 112,000




2A:

CIHOHE A 2

Y ZTZCNT 2E L 29
Rl SAEE ¥ ARES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 20,000
Tl 92,000
BI=A 25,0003 %1102 2,750
OdtetE M2 Atz
16,0002 %1,000& 16,000
SNEE AEFE 22,216 18,862 3,3%4
201 2= 9,476 14,162 A4,686
01 AtR2t2lt] 9.476 14,162 A4,686
OttH=A2 2823 7 1,530
MRPES 200, 0002 52| *90f% 900
- Zely JtECIX 250, 0002 x22| *90f% 450
SAEX 20,0002 1074 *90% 180
OUHE=AZ A E2 S5
66,0002 x2574*90% 1,485
OUHEAZ SHEiAEIA R
6,000& *902| x 12& «90% 5,832
OdttE N SANE AlY 2823 78
500, 000 *90% 450
OBISHE M2t 8iA B2 B0
66,0002 *37H*90% 179
301 EtE NS 12,740 4,700 8,040
11 dAMEBIXIE S 12,740 4,700 8,040
Ot A2 Hst=Muma AL A=
130,000 3 »23] 780
OUHEMZ K20l SMal ZAs=Y
130,000& * 112 1,430
OUHEAZ OBl0lE=SAtE IHRASAL
A+ Al 11,000 1@ %102 1,210
OUHEA 2 A 2t==2E AL
860,000 860
OUUZ A2 S & A
760,000& 760
Ottt M2 SA2 & A
760,000 760
OBIHT AR SATE L3
4,940,000 4,940
Odtetz A2t 012l FeHSst BAg
80,000& »252 2,000
gdists 29 31,720 34,690 A2,970
301 LEIE NS 31,720 34,690 22,970
11 dALEEIXIE S 31,720 34,690 A2,970
OFE3 ST LA==E
130,000 83| x20H 20,800
O2stH At ZA=g 130,000 +602] 7,800
OWsISy ALY
130,000 *4 2| +6H 3,120




2A:
X XH -
o e

=aak

CHHE A2
IZTHB HE L 2Y
DHENZ 29

SA - ZE . BR() - HRAR - BES of v G o HIDE2
CiHEA2 29 1,275,732 1,153,814 121,918
= 11,210
Albl 374,199
Tl 890,323
QIXIAIY HEXISS(BTL) (M EALY) 953,140 937,983 15,157
Alt] 297,328
Tl 655,812
307 lztol & 953,140 937,983 16,157
AlHI 297,328
Tl 655,812
05 212t =S 953,140 937,983 15,157
OLITtAtE ERXI23(BTL) 953,140
PN 457,427,000 457,427
AltI 297,328
Tl 160,099
- =gl 495,713,000 495,713
CA2 2N 91,935 126,422 A34,487
= 11,210
Al 11,210
Tl 69,515
101 @124H| 33,201 16,689 16,512
s 11,210
AlHI 11,210
Tl 10,781
04 JIZtN2Z2XNSE 33,201 16,689 16,512
Oxtzd 2dX& 33,201
JlEa 88,2723 x2B 22U +6E 23,304
s 11,210
AlHI 11,210
Tl 884
CERE 88,2723 x2H 52«63 5,297
-mUASEE=s 28,601,000& *4.5% 1,288
-RUALEEE 28,601,000 %3.545% 1,014
- RATER 1,014,0002%12.81% 130
CIEEEE 28,601,000 *1.75% 501
AHEES 28,601,000 *1.63% 467
SE S| 300,000 x2&H 600
SAZE 300,000& x2&H 600
201 et 3| 13,597 21,129 AT7,532
01 At22t2l] 12,804 20,444 AT,640
o2gEs 7Y 4,283
- ZelE JtECIX 150,000 +7 CH =23l 2,100




. CHOHE A2

D ZRCAD HE Y 29
L DHEAZ 29 M)
SA - BB -GS - MRAY - BES A 2t
= ERESTIES
125,000 *38+ A 375
- GMZ Tely ZX 66,000 & x5k A 330
0| SEZ 14,0003 *128F A 168
S|RIIE TElf 2l 22, 000&*52 110
ANRES 300,000 *43] 1,200
O3JAIHE H 1,150& x1,8000H 2,070
OE MOHLHEr HIZ 66,0002 * 161 1,056
OMSUXRIAEIA BHE D1 22l
11,0002 *1002H 1,100
ORId3 3o&Es =5 2,400
S EELEEE
100,000& x6H *23| 1,200
Ehit=blLEE 100, 000232 x43] 1,200
OnRgza F4)| ALE
52,900& 123/ 635
O0TT MHlA 2SsE 35,0003 x3H x 128 1,260
02 S324| 793 685 108
O A2 3| 523
22T A2E3(H3H]) 400,000& 400
S22 AEal(Hald]) 123,000& 123
ORER2 270,000 270
203 YR =&IH| 900 900
03 AIHF=RIHREAIY| 900 900
OEAN22H HRFA 1,000, 000 *90% 900
301 LEtEX 2 44,237 43,604 633
10 AIRISRRJIBAZ 44,237 43,604 633
OOHEAZ 298X 44,237
R=—r= 1,000,000 x3¥ » 12& 36,000
- SAH| 7,000 *3Y %22+ 128 5,544
wEH| 3, 4003 x3Yx222U x 12& 2,693
TAZ AlES K22 60,035 49,541 10,494
201 LEt2Hd| 60,035 49,541 10,494
02 Bs249H| 60,035 49,541 10,494
OrspliTr=; 4,000,000&«12& 48,000
O3 1,400,000 x6& 8,400
OXt&= bl 3,000,000& 3,000
OCIHYTV AIE2=2 48,8403 x 128 587
OABHOLME I 48,000& 48
NS EEAIAE 2H 33,279 34,121 NB42
201 LEt2AH| 33,279 34,121 NB42
02 B22ZH| 33,279 34,121 NB42
OCCTV AIAE! SXE4 40,800, 000& *7% 2,856




2A: A2
Y ZZCNT 2E L 29
eelr M2 24 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OUIE3a X2+ 6,215
-UIERA &l 60,305, 1702 * 7% 4,222
Z X SHAIAEL(IPS) 22,077,000 *7% 1,546
PEE MAZXI(UPS) 6,375,250 * 7% 447
OXMBHI(EFH) RXNE=
59,949,840 x5% 2,998
OZHO0IX SXE= 19,600, 0002 *12% 2,352
ORFIDEHI SXE+ 7,474,000& 7,474
OXSULAIAE RRES
19,4003+ 12& 1,433
O=20218ol MHIA O18Z
39%1+2,80021 123 1,311
OCIHY 3l AtEZ 720,000 123 8,640
SN BE3 J|8H=&45) 6,022 5,747 275
201 B2 AY| 6,022 5,747 275
01 At 22|l 6,022 5,747 275
OBtolHA BHAI S/ 2
30,800& x702 2,156
OMs ZXtAHIA olE=Z
18 %15,00024 x 12 *90% 2,916
OFLEH 228 722
250,000 33| *90% 675
ORHMHAEX el wXl
275,000 14 275
CHHE M2 OEl0|=sEtzstst 22 131,321 0 131,321
Alt] 65,661
sl 65,660
101 el t| 32,421 0 32,421
AlHI 16,211
=l 16,210
M I1RHZ2Z2XsSE+ 32,421 0 32,421
Onelol =g=st32t 29 XA 32,421
JlEs 88,2723 x1Z 22+ 12F 23,304
AlHI 11,652
-4l 11,652
=Ry 88,2723 1Z«5Ux12& 5,297
AltI 2,649
sl 2,648
Eul o F=1oak=-K=d 28,601,000 *4.5% 1,288
Al 644
=4l 644
IOALEEHZ 28,601,000 *3.545% 1,014
Al 507
-4l 507




2A:

CIHOHE A 2

Y ZZCNT 2E L 29
el A2 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
RYLER 1,014,0002 %12.81% 130
AlHI 65
Tl 65
IEEEE 28,601,000 *1.75% 501
AltI 251
-l 250
MHEEZ 28,601,000 * 1% 287
Alt] 143
Tl 144
SE S| 300,000& %1 300
AlH] 150
-l 150
SXEE 300,000& *1 300
Altl 150
Tl 150
201 er2 3| 14,880 14,880
AlHI 7,440
Tl 7,440
01 At2teltl 2,880 2,880
O2gs3 78 2,400,000& 2,400
AltI 1,200
-l 1,200
O&=)| dEx 40,0003 * 122 480
Albl 240
Tl 240
2 352484l 12,000 12,000
o= 1,000,000& «12& 12,000
AlHI 6,000
Tl 6.000
301 EtE N = 44,020 44,020
AltI 22,010
-l 22,010
11 #AIAHIXIE S 44,020 44,020
ONEoIMEZEZ2 I 2A=E
80,0003 *215A1 2t 17,200
Al 8,600
Tl 8,600
O2Y - JUZ208 A
130,000& »203 2,600
AltI 1,300
Tl 1,300
OO 0I&HAt 2,220
HEIOILEAL 2AE
130,000& 42 520




2A:

CIHOHE A 2

Y ZZCNT 2E L 29
el CGHEN2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 260
Tl 260
Pl E el = 1,000,000& %12 1,000
AlH] 500
-l 500
SHxF3gE 700,000 *12] 700
Albl 350
Tl 350
O30 o 22,000,000& 22,000
AlHI 11,000
Tl 11,000
405 KHoHF S| 40,000 40,000
AltI 20,000
-l 20,000
01 TR ESFISHI 30,000 30,000
O0lRI0|=E 235122t 2EI= 2l
30,000,000 30,000
Alt] 15,000
Tl 15,000
02 =A bl 10,000 10,000
OoolgloIsg=zata82t A 7Y
10,000,000 10,000
AltI 5,000
Tl 5,000
ol A 2 =24 1,074,273 1,074,273
Altl 50,000
Tl 1,024,273
JH2t =4 666,081 666,081
201 Ler23 | 102,449 102,449
01 At22t2lt] 102,449 102,449
2F Ha 15,000,000 15,000
O 22| AAH(KAAS 3.0) +5
4,000,000 4,000
OXAMSAIAR 2= 8,500,000& 8,500
Oz 28 =25 ¢ 12,020,000 12,020
Ootixels +¢ 11,000,000 11,000
Oz 2= M 1,000& *4,0000H 4,000
Olxz Hel 47,929
- A= OIOIEHIOlIA 2= & &I
1,149 31,0002 35,619
CAXE Felgs 7Y
12,310,000& 12,310
207 ARl 22,000 22,000
02 MAHHEH] 22,000 22,000




. CHOHE A2

D ZRCHT HE U 29
CooteEAZ 2E AR
SA - B - SRUBH) - MRAR - BAS A HIDEZ
OZHoIXl = 22,000,000 22,000
401 AIEHIX SO 68,000 68,000
01 Al&H| 55,000 55,000
O=AZ AlE M= 55,000,000 55,000
03 AlESTHYI 13,000 13,000
O A2 JH2t4) Jhzl 13,000,000& 13,000
405 KHaHE SH 473,632 473,632
01 ML ESFH= 137,632 137,632
OXtzgd I+t 2 41,594,000 41,594
oyl &X 61,730,000& 61,730
OALRE2t JF2
34,308,000& 34,308
02 =A=EhI 336,000 336,000
Oz g 2 16,000& %21,000& 336,000
M =2X2el 231,874 231,874
201 Ler2 | 65,674 65,674
01 Al 22l 23,818 23,818
OSADIA AFBAIE BIIZ A
100,000 100
OM==Z +=ZZAHI 100,000& 100
OsZll2elkt U= 22,0003 2
OAgotM 2| X W=l 200,000 200
ONAAZAIE QTBRIT DR
300,000 300
oY A=| 250,000 %52 1,250
OH4 U U5 9IS AINNE B
550,000 550
ORelddl 4| 275,000 112 3,025
Oxg&e| 9| 17,127 ,000& 17,127
O=0e £X 1,144,0002 1,144
02 s3=gHl 41,856 41,856
oI 2= 18,000,000& 18,000
Otk 2= 3,000,000& 3,000
OEADIA 2= 9,500,000& 9,500
OBAM =228l 1,017&%3,570m 3,631
Oy otd 2 148,000 «62 883
O&D| otd e 500,000 x6E 3,000
Os2)l etd2e 376,200 x6E 2,258
OsZJ| HIdSsHEX
5, 700363 +20H 69
OMz=zx HAHI 500,000& 500
Odlf 812 & 1,000,000 1,000
OZADIAAIEE 10,0003 10




2A:

CIHOHE A 2

Y ZZCND 2E L 29
Cel: SIHEAZ 2% EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 166,200 166,200
05 QIZtRIELZ 166,200 166,200
OFx 2 ¢S 9| 166,200,000& 166,200
S 29X 67,230 67,230
101 2124 d| 49,529 49,529
M IIZINZ2 2 NS Es 49,529 49,529
OXtz4a 2Z X2 49,529
JlE2s 88,2723 *22U+x3H+6H 34,956
e 88,2723 x5 x3H+6E 7,945
- aRIHZEEE 42,901,000 *4 . 5% 1,931
- ROAHAEEZ 42,901,000 +3.545% 1,521
- AIRAEE = 1,521,000&%12.81% 195
- NESEE 42,901,000 *1.75% 751
AHIEEE 42,901,000 * 1% 430
- HEFOHI 300,000 *3H 900
- SANEQE 300,000 *3H 900
201 B2 AY| 16,801 16,801
01 AtR2elt] 16,090 16,090
O M2 L= &3&F2ldl 11,920
)| HE 42,000 x50 «62 1,260
- BIEED| g 42,0003 501 +6H 1,260
SIHAMES(BEE SOIEHE NEH S)
7,000,000& 7,000
YU S (ELASH, B0 S)
2,000,000& 2,000
gItH I S ME 400,000 400
OAR 28 ¢ 2,600
ANRES 300,000& *43| 1,200
oy &Y 250,000 *43| 1,000
- SALEX 20,0003 x202 A 400
O3&IE MZE 1,150& *1,0000H 1,150
O0TT MHIA olg2 35,0002 2 +62 420
2 S=29| 1 71
O&EAM2 &3l 523
23T A2 g3l 400,000 400
S A2 g3l 123,000& 123
OAtEE 3| 48,000& 48
oRERI 140,000& 140
203 AR F=&lH| 900 900
03 Al FRIHRFAIY| 900 900
OZAN2 28 g2F
1,000,000 *90% 900
SN2 FEAAE 2H 9,088 9,088




A A2
Y ZZCND 2E L 29
&t ot =29 EEED
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 9,088 9,088
01 At2teltl 2,432 2,432
OHtolefA #al /W 2
30,8003 *17= 524
OXAHEHl 428 7€
250, 0002 x22| *90f% 450
OMS EXMEIA 018Z
18&1%15,00021 x6Z *90% 1,458
2 35234l 6,656 6,65
OZ22&0I MHIA OlE=
39&*2,8002+6& 656
Ol old AtEE 500,000& * 128 6,000
oft=AM&t OBl0I=E=2ets2t 23 100,000 100,000
Al 50,000
Tl 50,000
101 @124H| 79,027 79,027
AlH] 39,514
Tl 39,513
M IRINZZENSES 79,027 79,027
Oo0lglo|=g2sts2t 2ENA(BY 22) 66,039
Jl2s 88,2723 x22 L x6E x4 H 46,608
AltI 23,304
-l 23,304
CERE 88,2722 x5 +6E x4 10,593
Alt] 5,297
Tl 5,2%
b= Ega 57,201,000& 4. 5% 2,575
AltI 1,287
-l 1,288
=UALEE= 57,201,000 +3.545% 2,028
Altl 1,014
Tl 1,014
RYEER 2,028,0002 *12.81% 260
AlH] 130
Tl 130
NEZE= 57,201,0008 *1.75% 1,002
AlHI 501
-l 501
MHEE = 57,201,000 1% 573
Al 287
Tl 286
SE S| 300,000 x4 1,200
AlH] 600
Tl 600




2A:

CIHOHE A 2

Y ZZCND 2E L 29
Chel: otHEN2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- SXEE 300,000& x4H 1,200
AlHI 600
Tl 600
Oo0lRloI=E2ata2t 2ERNA(FL 22) 12,988
JlEs 88,2723 x8L 6 2H 8,475
Altl 4,237
Tl 4,238
CEEE 88,2722+ 16/40x5 2L x6 & ~2H 2,19
AlHI 1,059
Tl 1,060
UHsEER 10,594, 0002 *4. 5% 477
AltI 239
-l 238
-=RUALLEEHZ 10,594,000 *3.545% 376
Alt] 188
Tl 188
LIS 376,0002%12.81% 49
AlH] 25
-l 24
2= 10,594,000 *1.75% 186
Altl 93
Tl 93
o Ld=-1=d 10,594,000 * 1% 106
Alt] 53
Tl 53
SE S| 300,000 x2&H 600
Albl 300
-l 300
- =XEE 300,000 2 600
Al 300
Tl 300
201 er23| 8,173 8,173
AlHI 4,086
Tl 4,087
01 AtR2t2|HI 8,173 8,173
O=2g=s 7 8,173
ZelH EH 2 SA X
2,863,000 2,863
Altl 1,431
Tl 1,432
UERED| & HME Zely Xl
600,000 600
AlH] 300




A CHEA2

Hu: DTEA

s ottt A2

He
H0
02

HO Jiob
02 Of

SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 300
CSBIE 2lE S JIE AIRES

4,710,000 4,710
Al 2,3%
Tl 2,3%

405 AHatE = 12,800 0 12,800
AlHI 6,400
Tl 6,400

02 =M=l 12,800 0 12,800

OogoI=sg2ss2t Itz 7

16,0002 »800 12,800
AlHI 6,400
Tl 6,400

HH2IBHI(CHHEAZ) 247,373 253,427 A6,054
= 29,650
Alt] 87,5%
Tl 130,127

el 23| 218,676 229,060 10,384
= 29,650
Albl 87,596
Tl 101,430

elIg =3l 79,227 62,485 16,742
Alt] 31,618
Tl 47,609

101 @124H| 79,227 62,485 16,742
AlHI 31,618
Tl 47,609

02 JIEtME = 79,227 62,485 16,742

OUHE A2 ALA AIZFE R &M 32
2(0t2)(2%) 63,236
Rt 21,819,000 2 43,638
Albl 21,819
Tl 21,819
AteI2esg

9,620 =2 *30Al 2+ 12 6,927
AlHI 3,464
Tl 3,463
- ZAHG A 140,000 x2& * 122 3,360
AlHI 1,680
Tl 1,680
- AZEXI| 175,000 +7/8+2F 128 3,675
Alt] 1,838
Tl 1,837
el eS| 50,0002 7/8x2B« 12 1,050




A A2
M HAPAZHI(CHHE=M2)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AlH] 525
Tl 525
IIESY 20
- <Xt 40,0003 ~1~128 480
AltI 240
-l 240
-J|Et 20,0003 18122 240
Alt] 120
24| 120
o1p ALt
1,818, 2502 «84%+86%+1/30%1/7+B4 Al 2H2H 1,051
AltI 525
-l 526
SaxoLg
1,818,250 x84%+5%+8/7+2 & x 12 2,095
Alt] 1,047
Tl 1,048
JI2AEERES 720,000 720
AlH] 360
-l 360
Odtetz A2 AFM AIZEEE R &D1M S 2
2A(0=2)(1g) 15,991
gl 21,819,000&*1/2 10,910
CAZRI2RSE 9,6202 x30AI 26 1,732
. HoH2 ALY 140, 000262 840
EST= L 175,000 +7/8+62 919
- el &S| 50,0008 +7/8+6 263
HEE 360
-BH Xt 40,0002« 186 240
-JIEt 20,0003 1 +63 120
At A
1,818,250 B4%+86%x* 1/30%1/7+42 A1 2 263
S+
1,818, 2502 x84%+5%+8/ 76 H 524
I AEERES 180,000& 180
QIA2HH(S3 A2 JH2tAIZE HERIY) 93,708 121,902 N28,1%4
[ 29,650
AltI 29,650
-l 34,408
101 @12A4H| 84,486 109,875 N25,389
[ 29,650
AlH] 29,650
Tl 25,186
03 SR (RINAHA) 222+ 84,486 106,260 AN




A A2
A HZRIZH(CIHE=AZ)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSEE= A2 H2AIZE HAH X2 A 80,692
2 2,475,2003 2 +12& 59,405
= 29,650
Alt] 29,650
Tl 106
EENE S
2,475,2002 1823 4,951
- EEFOH 990,080 x2H *23] 3,961
- SESOI(BLFIIIH)
990,080 x1H+23] 1,981
- Hougal| 140, 0002 x224» 122 3,360
LN ENESIEIE)
140,0002 x1&+2& 280
&g 20,000 =2 * 122 480
IIEA(BNEIIRIR)
20,0003 18 =24 40
- AXteE 13,8073 <3S +BA| 2+ 17 5,634
PAEMESasy 300,000 x2&H 600
OSRA(RIIA)22X U023
1,264,440 x3E 12 3,794
04 HSRESS 9,222 12,027 2,805
04 R (RIHA)22N BEESRES S 9,222 12,027 2,805
OLlsEgs 80,692,000& *1.75% 1,413
oM A2 E = 80,692,0002 *1.63% 1,316
O=2AZEEY I 5=
80,692,000 +3.545% 2,861
O=glgis I BEE=
80,692,000 4. 5% 3,632
QIA2IHI(0RI0INZA 0l&AIZE HEXIH) 45,741 44,673 1,068
AltI 26,328
Tl 19,413
101 @1A4H| 41,193 40,254 939
AlHI 26,328
-l 14,865
03 SR (RIH )22 U2+ 41,193 38,927 2,266
OOe0ITtZ 4! 0ISAIZt AKX A 39,800
B 2,740,230« 18+ 12& 32,883
AlH] 26,328
Tl 6,555
SE S| 1,096,002 x1H*23] 2,193
=AM 140,000 x1&* 122 1,680
E=E 40,0002 x1&* 122 480
AXt=g 16,2582« 1 +BA| 221 2,564
Og1ltati= 1,392,870 x12]+1H 1,393




t

)
e

CA
SAZHI(CHHEMZ)
22|

=y
XY ZH -

o™

od
i’
o
uJ

3 RO /F
0 ol

el

-

KIO

Hlw

129
129

4,330
4,330
3,360
3,360

970

HMEE
Ofl &k2h

4,419
4,419

24,367
24,367
5,357
5,357
16,800
16,800

2,210

Ofl &F2H

4,548
4,548

1,791
1,411
697
649
28,697
28,697
5,357
5,357
2,592
2,765
20,160
20,160

20,160

3,180

- SRA(3) - HIRAEY

- ESS

S LRE-L

o

Iy
]

o
Y

ol

i

2,592,000
2,765,000&

39,800,000& 4. 5% 1H
39,800,000 1.63%1H

39,800,000 #3.545%* 1
39,800,000 1. 75%*1H

s §
=]

01 AFS2t2ltl
01 AL

=3
202 04l

o
10

ok
D
I

280,000« 12 +6

K]
Kt
ok
ol

160

810

320

1,890

2,700
2,700

480,000
3,000,000 *90%




